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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

T} 0 T}
~ ~ ~
© [{=] ©
o o o
To) Te} To)
© © ©
o {9} [Te)
N N N
© [{=] ©
L L J ®
o o o
) =) )
© © ©
> > >
1] © 1]
Eel el ©
o [[9) Lo
~ ~ ~
T} 0 o
o o o
To) To) To)
T} [[9) T}
o 0 o
N o N
[Te) {9} o
o o o
o o o
o {9} o
— O
> > (] > [&]
L Lo s} oz (o'
o O o L L
~ ~ ~
T T T T T < T T T T T T r < T T T T T < T T T T T T T
< [aN] o [aN] < o o o o o o o o o o o o o o o o o Lo o
o o o o o o o] o o o o o o o Te] o ~ T9) N o ~ T9)
. ™ N N — — N — — [I'e] < < < < ™ ™
o o o o o =) o

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

2500

2000

1500

1000

500

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['I",

"lopt’], ['T", "Topt’], ['RH’, "RHopt'], [ ETcl’ optETcl’ ], 'LAI’,
I

" optEtRate’ ]

I

e

JUWTY

|

|

25

A

f \A
~— :
W e
%

/ /
// N
LA
N/\VA J AUV TRATIATTY Y2 a—

—_——

25

150

o__
©

[




Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R

06:50 283 150.0 2. 888 RS FiHAe06:50 KREIEF (KREERE)
07:25 283 150.0 2.888 RS FhHA@O7:25 kENFEF (RAfREE)
08:35 283 150.0 2.888 RS ThHA@O8:35 KENFEF (KAfREER)
09:25 283 150.0 2. 888 RS FiHRe09:25 KREFEF (KREERESE)
10:05 283 150.0 2.888 RS FhHA@10:05 KENFEF (RAfEEER)
10:40 283 150.0 2.888 BE| FiHH@10:40 REEF (REAEHE)
11:15 283 150.0 2. 888 RS FaHAe11:15 KEIEFE CGRAFEER)
11:45 283 150.0 2. 888 B FhHA@11:45 KRENFEF (RAAIEEEE)
12:15 283 150.0 2.888 B ThHR@12:15 KENFEF (RAA{EREEE)
12:45 283 150.0 2. 888 RS ThHAe12:45 KEIEFE CGRAFEE)
13:15 283 150.0 2. 888 R5| TiHAe13:15 KRHERF (RAEHS)
13:50 283 150.0 2.888 B5| FnHA@13:50 KREFEF (REAEEE)
14:25 283 150.0 2. 888 RS ThHAe14:25 KEIEF CGRAFEERE)
15:00 283 150.0 2. 888 RS FiHAe15:00 REIEF (REERE)
15:40 283 150.0 2.888 A FHAe15:40 KREEF (KBAHERKSE)
16:25 283 150.0 2. 888 RS ThHA@16:25 KENIEF (RAMHEEER)
17:20 283 150.0 2. 888 B FiHFe17:20 REBF (REAERSE)
2it]4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.8

P EKECE (1887.0 vs 3987.0) id5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-11_0, Day=69 (2025-06-10)
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P3-11

BYiE) | GEBATIC () | EBE (EA/) | EREE(B/R) | XS ERE

08:15 283 150.0 2.888 [Z=| 1Ri%e08:15 Bzh (FEEESE)
09:00 283 150.0 2.888 [Z=| 1Ri&e09:00 Bah (FREEREE)
09:45 283 150.0 2.888 |Z=| {Ri%e09:45 Bz (KREAEHE)
10:30 283 150.0 2.888 [Z=| 1Ri%010:30 B3h (GREEESE)
11:15 283 150.0 2.888 [Z=| 1®ige11:15 Bzh (REERESER)
12:15 283 150.0 2.888 |Z=| {Rige12:15 Bz (REAEHE)
13:15 283 150.0 2.888 |/hfu| {Ri&e13:15 Bzl (REAEHSE)
13:55 283 150.0 2.888 |/hfu| {Ri&e13:55 Bz (REAEHSE)
14:35 283 150.0 2.888 FA| {Ri&e@14:35 Bz (GRAEREE)
15:25 283 150.0 2.888 |Z=| {Ri&e15:25 Bz (REAEHSE)
16:45 283 150.0 2.888 |Z=| {Ri&e16:45 Bz (KEAERSE)
23t 3113.0 (110%) 1650. 0 3 HEKEC: 2080.0, PH: 5.9

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (1897.0 vs 4047.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=68 (2025-06-09)
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P3-11

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

07:10 283 150.0 2. 888 s {Ri&e07:10 Bz (REERSE)
07:40 283 150.0 2.888 5| {BRige07:40 Bzh (RPERSE)
08:10 283 150.0 2.888 RS {Ri&e08:10 Bzl (REAEHEE)
09:05 283 150.0 2. 888 RS {Ri8@09:05 Bz (REERSE)
09:45 283 150.0 2.888 RS {Rige09:45 Bl (REAEESE)
10:20 283 150.0 2.888 S| Ri%@10:20 Bz (REEESE)
10:55 283 150.0 2. 888 e {Ri&@10:55 Bz (REAERSE)
11:25 283 150.0 2.888 el Rige11:25 Bal (REEESE)
11:55 283 150.0 2.888 BE| Rige11:55 Ba (REAERSE)
12:25 283 150.0 2.888 B Rige12:25 Bz (REAERE)
12:55 283 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:25 283 150.0 2.888 el Rige13:25 Bal (REAEHSE)
13:55 283 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:25 283 150.0 2.888 S| Ri%e14:25 Bz (REERRSR)
15:00 283 150.0 2.888 BE| Rige15:00 Ba) (REAEHSE)
15:35 283 150.0 2.888 BS| 1Ri%e15:35 B (GREMEESE)
16:10 283 150.0 2. 888 e Rige16:10 Bz (REAERSE)
16:55 283 150.0 2.888 sl {Rige16:55 Bl (REAEHSE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.8

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHEKECE (1927.0 vs 3870.0) 5
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P3-11

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
07:40 283 150.0 2.888 RS {Ri&e07:40 B (REAEHE)
08:15 283 150.0 2. 888 RS {Ri&e08:15 Bzl (REEREE)
09:10 283 150.0 2.888 RS Ri%@09:10 Bzl (REERR)
09:50 283 150.0 2.888 RS {Ri&e09:50 B (REAEHE)
10:25 283 150.0 2.888 RS Rige10:25 Bz (REAEHE)
11:05 283 150.0 2.888 S| Ri%e11:05 Bz (REERRSR)
11:40 283 150.0 2.888 B Rige11:40 Bz (REAERSE)
12:10 283 150.0 2.888 Bl Rige12:10 Bz (REAERE)
12:40 283 150.0 2. 888 e Rige12:40 Bz (REERSE)
13:10 283 150.0 2.888 B Rige@13:10 Bz (REAERSE)
13:45 283 150.0 2.888 BE| Rige13:45 BHa (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
15:00 283 150.0 2.888 S| 1Rige15:00 Bah (GREERESE)
15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAERE)
16:25 283 150.0 2. 888 BE| Rige16:25 Bz (REAERSE)
17:25 283 150.0 2.888 S| 1Rige17:25 Bzh (REERESE)
2it] 4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[ERECE (1877.0 vs 3663.0) 145



P3-11_0, Day=66 (2025-06—07)
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P3-11

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:30 283 150.0 2.888 RS {Ri%006:30 Bz (REAERESE)
07:05 283 150.0 2. 888 B 1Rige07:05 Bzh (REEEE)
08:00 283 150.0 2.888 | 1Rige08:00 Bzh (KREEESR)
08:45 283 150.0 2.888 5| {BRi%e08:45 Bz (GRPMERE)
09:30 283 150.0 2.888 5| {Ri%@09:30 Bz (KREEESE)
10:05 283 150.0 2.888 BE| Ri&@10:05 Bzl (REAEHE)
10:40 283 150.0 2.888 BE| Ri8@10:40 Bz (REAERSE)
11:15 283 150.0 2.888 B 1Rige11:15 Bzh (REEESR)
11:45 283 150.0 2.888 S| Rige11:45 Bz (REAERSE)
12:15 283 150.0 2.888 B Rige12:15 Bz (REAERE)
12:45 283 150.0 2.888 S| 1Rige12:45 Bzh (REEESR)
13:15 283 150.0 2.888 BE| Rige13:15 Ba) (REAEHSE)
13:50 283 150.0 2.888 BS| 1Ri%e13:50 B3 (GREMEESE)
14:20 283 150.0 2.888 S| Ri%e14:20 B3 (REERSR)
14:55 283 150.0 2.888 5| {BRige14:55 B3 (RPERKSE)
15:30 283 150.0 2.888 BS| 1Ri%e15:30 B3 (GREMEESE)
16:10 283 150.0 2.888 e Rige16:10 Bz (REAERSE)
17:00 283 150. 0 2.888 5| {Ri%e17:00 B3h (RPERKSE)
24it]5094.0 (18%%) 2700. 0 3ESFHKEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[EKECE (1820.0 vs 3593.0) 5



P3-11_0, Day=65 (2025-06-06)
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